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100

(()6 )larli.r,)
(10llar'lis1
(0.1 \larl.r)

b.

c

),:
b

3a.

h

C

C.

J l \\'lrat is ('o-

C

a. Dellne
Explain

b. Explain
the
the

ordination? Explain
VO

itli.lt l()lt

l)roccrssb. Dc{lrre Controllrng Bxpiarrt
Ijxplain the bcnetrts of

6 a Vlention
b. Explain

ii) Busrne ss Ilntrepreneur

c. Merttiort and cxplain thc stagcs

lain the l' Entreglreneurs in [rcottorlic der''eloprttctti
(10 )larl.-\)

of Identifying srness 0ppoftLrnrtlcs (10 )larl."sl

(05 i\{arlis)

i) I)ronc l:.ntrcprcnctir
iii) Non - 'l'echnical Etttrepreneur ir') ltttrapreucur.

(0ll \[rrr l'.,
in Entreprencurial process. (07 llarlirl

7 a. What is Pro.i

Module-4
ect'? trxplain the diflf'crent lvriys of Project Iclenti{'icatron alld Project sclcctjoi,

(10 )lall,:.i
b. What is Pro.lect l{cpclrl? Wlrat are the significances ol'Pro.iect rcport? [:xplairl thc plannrrrr

comlnissiolr guidelines lbr preparing a pro-iect reptit't (10 \larlis)
l of'2
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18CS5l

(06 !larhs)

(08 \larks)
(06 !Iarks)

(0tl -\Iarks)
(07 ){arks)
(05 \Iarks)

(12 N{arks)

lnte 11ectr-ral

(0tt NIarks)

9a.

b

C

b

L'

10 a.

b
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F"ifth Semester B.E. Degree

Computer Netw
-fin-rc: 3 hrs. Mlix' M'rrl<s: 1()0

i\ote: Answer oil! I;ll/E full questions, choostng ONE Jitlt question.fi'rtrtt cuch tnodulc,

I a. Di{Jct'cntiate bct',r'ectr , 
]@

(i) III'I'P ancl FTP (ii) SMTP ancl IITTP (iii) UDP ancl l'('P (10 )irrl<s)

b. Irxl-..,laiir Cookies artcl \t1eb Caching rvith diagrarn. ( l0 \Iarlisi

()l{
2 n. Ilcscribc in dctail lhc scrviccs of lcrcclby DNS anci explartr l)NS nrcssagc lirrttrat. (0ti,\'llrtilr

b. L-ornparc III'TP and SMTP. (0-1 llatlis)
c. Dc:{inc Sochct. Denronstrate the rvorking o1'TCP-Sockct. 10{l \{rrlis)

Ntodule-2
3 a. With thc help o1-FSN,I. cicscribe thc two states o1'tltc settclcr siilc artd r.rt.ier stitlc o1'tirc rcccirci

siclc ol'rdt2.0 (l() \lar-ks)

b. With a neat cliaglil'n. clcuronstratc thc rvorking o1'Cio-BA(iK-N protot:ol. (1{) \I:rrks)

OR
4 tt. Dcscribc TCP conncction managcment 

"vrth 
hclp olcliaqram. ( l0 lllrl's)

l-.. lntr:rprct the FSM to l-CP congestion contr6l. (10 \larl.s)

\lodulc-3
5 a. lixplain thc huplen-rcntation of virlr-ral cir:cuit sc-rrices ir C]omputer Nt:tu'ork" (07 \larks)

b. Irxplain tlic three Su,itcliing Techniqi-res. (06l{lrl<s)

c. Ilxplaitr Distance vcctor algorithrr using threc noclcs netllork. (07 \Iarlis)

OR
6 a. lixplain Dijkstra's algoritl-irn with cxarnple . (10 ]'larkst

b. trxplain various broaclcast routing algorithrns. ( l0 \Iartisi

N{oclule-4
7 zt, Explain Fc.istel structilrc of DES Aigoritlrrl. (10 \'llrlis)

b. IJxplain RSA Algolithm with an cxamplc" (10 \'larlts)

otl
8 a. [n tiic Ditfie - Hcllrnan keycxchangcprotocolprovc that thc tu'o kevs lt1 anrl l<.. at'c cc1ual.

( I0 ,\l a t'lis)

b. Discr-rss the fbllou'ing :

(i) Securc Ilash Algorithm (ii) irirewalls.

Modrrle-5
ii, Frxplain brielly how DNS reclirects a users rcquest to a CDN scrvcr.

b. With neat dizrgram explain the naive-architectLrre fbr audioivideo strearttitts

0R
e1. Write a short t-totcs ot-t :

(i) Netflix vidco strcanting platfbnl (ii) VOIP rvith Skrpc.
tr. With neat diasranr crplain thc RTP header flclcls.

(i0I'lark-sl

9 (10 \Iarlis)
(10 \'larli,s)

(10 Illrks)
(l0IIarlis)

Examinatio
orks and

n, Feb./Mar. 2022
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Fifth Semester B.E. Degr
Database Ma

Time: 3 hrs.

Note: Answer any FIVE full questions, .ful I questi otr Ji'om eu c:lt m otl u I e.choositrg OIYEN
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1 a.

b.

C.

2

J

a.

b

c^

a.

b.

c. Civen thc [bllou,irrg schcnra :

errp (

clept (

fhame, , SSN , Bclate,
ber. MgrS SN

salary, superSSN , Dno)gender .

)

4

ot{
a. Describc thc steps of an algorjthm for ER to I{atronal marp;ring w,ith cxiurplc. (06 illarl<s)

b. Write cornmand that is used lor tabL- clcation. Explain horv constraints rrlc spcciliecl in SQt
clLrring table crcation, ia ith sLritablc examplc. (04 llarks)

1 of 3

E

D

OR
Hxplatn charactcristics of thc Database approach. (06 )tarrs)
Discurss the dillbrenl lypes of lJser liiendly interlaces. (06 \tnrl<s)

I)rau, an ER cliagrarr fbr an AIIILINES database scherna with atleast llvc cntitics. Also
spccify primary kcy aird structural constraints (08 \larlis)



5a

b

N{odule-4
7 it. \\'hich nornral firrnr is basecl on 6 transitive lirnctional clependencies ancl lirll lirnotional

clcpenclcncy'i fixplain thc same ',vith exantple . (08 l,tarks)
2 ol3

6a.

b.

c.

18CS53

c. Clii,en the lirllorvrng schernit
I'.mp (l-'namc, I-narre. SSN , bdate, address, gender, salary, sr-rperSSN . clno)
clcpt (dnan-re . cLrumber, rlgrSSN , mgrstartdate)
clcpt krc (clnunrber. dloc)

lrroject (l)namc, PnLrnrber, Ploc , dnurn)
rvorl<s_on (l1SSN, Pno, hours)
dcpenele nt (11SSN , dependcnt_nal-ne, gender, bclate, relatior-rship)
Cive tlrc re lation alge bra expression fur the following :

i) Retlicvc thc name and addrcss of all cmployees lvhu rvork lbr'sports'dcpartment.
ii) I{ctrrcvc cach department nlrmber, nLrmber o1'enrploycrs and their avcrage salarv.
iii) [.ist the pro.jecl nur.nber, controlling clepartment nur.nber and dcpartr.nent rnanager's last

nrlnle . ltlrlress and birthtlatc.
ir,) Iletrievc thc narne of employees with 2 or rnore dependents.
v) List llnrale etnployees fiom dno:20 earning more than 50000 (10N{arks)

Module-3
[)cllne Database storeci procedure. Explain creating arrcl calling storec'l ploccdurc u,ith
crarlplc. (06.\Iarhs)
\\hal rs SQL.I anci ho*,rs it diI}'erent fiom.IDBC'/ (06 \Iarl<s)
Consiricr the lbllou,ing schenra .

Sailors (Sici . Snamc , rating , age)
f]oats (brd, bnanrc', color)
l{escn'crs (Srd 

" 
brd , duy)

\\/rrtc clLrrrrics in SQL
i) I:incl lirc agcs of sailors whose nar-nl: bcgins and ends rvith A and 1-ras atleast three

t iItrlr,.'tcr':.
ii) lrrncl thc agc ol the youngcst sailor uho is i-ligiblr't() \'ote (i.c, is atlcast 18 years oicl)

1bl crch rating lc'r,el r,r,rth atlcast trvo such sailors.
iii) Fitttl tirc names of sailors w'ho have not reserrred a recl boat. (r-rse ncstcd clLrery).

rr,) ('on'tpttte inct'enrents firr the raturg o1'persons who have sailed two diflcrent boats on the
sanrc clay. (08 N,Iarks)

OR.
What is ClCil'l Why rvrs CGI introduced? What are thc cliserdvantages ol'an architecture
using CCI script? (06 N,Iarks)

What is I)vnanric SQL and how is it dillcrcnt fronr ernbcddcd SQL'/ Irxplain. (06 \Iarks)
Consiclcr tlrc lblk:u,ing schcma :

Sailors (Sicl. Snante, rating , agc)
[]oiLts (brd. [rnante. color)
Itcservcs (Sicl, bid. day).
\\iritc rlucries in SQI-.
i) Find the nal-r-]es of sailors wl-io have reserved at least one boat.
ii) I;ind sailors u,hosc rating is betterthan some sailors callcd'Jennif'er'. (Usc nested

tll.lCl'\ )

iii) lrind the average agc of sailor fbr each ratrng level that at lcast trvo sailors.
ii') I:incl thc narne and agc of the oldest sailor. (08 tlarks)



i

b.

l ttcss3

A reLation Rsatisfles the lbl1o."ving : FDS : r\ + C AU -+ D ll -),\l) tl ) II
Irind the cover fbr this set ol'FDS. (06 llar.trs)
Consicicr thc univcrsalrelation : R: lA, il, C, D, tl, F. G, II. I, J] ancl rhe scr o1'lirncrronal
depcnclencics. Ir:{At3 ->C,A +DLj,l])It,F +GI'l .D +IJf.
Dctertrinc rvhethcr cach decomposition has thc loss lcss jorn propcfly rvith rcspcct 1o Ir'.

Dr = {l{r, I{2, Itr} , I{r : {A, B. C, D, L1} , I1:: {8, F, (;, I]] , lt:,,. 1D, I. J].
(06 ]l:rrtis)

C

8a

10

b

a.

b.

C.

3 of 3

t)ti.
Write an algorithm [o check whether deconrposcd rclations arc in ]NI; r,r'ith ciclrcndcncr,,
preservation and ltolt * additive join propertl,. Consider universal relatior.r lt (U, C. L. A)
ar-rd the set of functional dependencies. F: {P + l,C-'A, I-C -+ AP, A j Ci. Dcconrposc
the relatior-r It irrto 3NIr with depenclency preservationanc'l non - adciitir,c.join propcrty.

(06 )l arl<s)
Deilrte Nonral Fortr. Explain lNIr.2NI' and 3NF'with suttable exantples iirr cacit.

(0tl )larl<s)
Considcrtwosetotfirnctional dcpendenciesF:lA-+C.ACl-+D.L:-+AI).Lr -+ttI anrl

G : [A -> CD, B + AII]. Are they ccluivalent? (0(r i\tarlis)

Nlodule-5
9 a. What are the anontalies occur due to interlcave executiou'l Explain thcnr n,ith cranrplc.

(08 )larlis)
b. Explain dilferent tyrcs o1'locks usecl in concurrcncy control (06llar.ks)
c. Explain ltorv shadorv paging helps to rccovcr fiorn transaction lailr-rrc. (06 r\,Iartis)
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(08 Marks)

(12 Marks)

(10 Marks)

(a + b).b (10 Marks)

their exits a finite
qo, F) which accepts L(R). (10 Marks)

Lemma for Regulm Languages. Show that the Language
automata M:

b. State and
1: {ww' :

B F

G C

A
C g'
H tF.:

C G

'G
F

.'G C

4

1 )-l is not regular. (10 Marks)
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; L**

-&

USN

b. Minimize the
states.

%'

Fifth Semester B.E. Degree

ii) To

Feb./Mar.2022

18CSs4

(10 Mark$

Fig
by

1

*ffiJ**
Tlv

Bffi

''* B
C
D
E
F

and I
and b

,S

of a's

w,,r€

the following Languages"
three consecutive zeroes.

subshing aa.

b. Write DFSM to accept ofLanguages

OR

C,



5a.

6 a. What is ChomskY Normal F

S + ABC lBaB
A-+aAlBaCl
B -+ bBb lalD
C+CAiAC
D--+ e

Eliminate e -

b. what is
Write

7

18CS54

(10 Marks)

* id, show that
(10 Marks)

to CNF.

w: 101C101
(14 Marks)
(06 Marks)

(06 Marks)

the transition

(14 Marks)

(07 Marhs)
(06 Marks)
(07 Marks)

(07 Marks)
(07 Marks)

8

9

10

Convert the

****{<{r*ffi
.i wr,,W

,ffi
- 5 "dt{&M

2 of7

(06 Marks)

b.

NPDA for
lnoves made bY NPDA

a.

b.

a.

b.

a.

b.
c. Explgin

if any before conversion.
(10 Marks)

{u%'I n > 1}. Draw transition diagram.

the string aaabbb. (10 Marks)

Languages.'
't,,

.::.::.

OR
a. Explain
b. Explain P

Explain Thesis.

,W
-T Y,/

i&M&-
c.
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Tim

I

)

3a.
b.

c.

4a.

5

ii) Matching
iii) Matching

groups
more.

c. Explain the fo file operations in Python with suitable examples:
i) and folders
ii) and folders

(06 Marks)

i ii) tly deleting files and folders. (05 NIarks)

@EffiWW
18CS55

example. (08 Marks)



6a.

b.

c

1 a. What is class? How do we
accesse<1?

b

c

mu1

a Pyhon.
. \3$'&

&...!1t!r

(06 NIarks)
(06 Marks)

(08 Marks)
(06 Marks)
(06 Marks)

b and saving
(08 Marks)
(06 Marks)

aragraph and
(06 Marks)

(08 Marks)
from HTML.

(06 Marks)
(06 Marks)

OR

8 a. Explain
b. What is
c. Explain

9

10

init str methods,
? Illustrate the

of polymotphism with

example.
example.

exarnple.

i-.,.dr

''q:-".
'1-

"ll!r.

iq:*{:e{ti

2 of2

18CSss

(06 NIarks)
(06 Marks)
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(10llurl<s)

(10,\'lariis)
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-['in-re: 3 hrs Max. N4all<s: 100

Notc: Artswer onlt FII"F./futt questiorts, cl'toositrg OiYE./ull qt.restion Jront euc,lt ttrttdule,

F-ifth Semester

erltret the significancc o

pllirr 3 srandard rcrlircct

B.E. I)egree Examinatign
UNIX Programming
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5

7

8

a
O
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=7o-.
a,t c
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,
o

'7

a:
a

a

1 a.

tr.

Module-1
Explain ther architecture o1'UNIX Operating Systent.
Uxplairr thc lblloivirrg conllands .

i) printl' ii) passrvd iii) dare iv) vvi.ro.

OR
I:xplain ltatLircs of l-lNlX.
firplailr basic lllc tytes in LINIX. \\'hat is relative and altsolrrte palhrxrnrrr )

Vloclule-2

a

l.)

(10 llrrrlis)
(10lllrlis)

a.

b.

lnt fts
10n

- [ comrnand redircction.
{rles rvith respect to LjNl XOS

lllr'l n 11c1'

displays:

(l0Ilarlis)
( 1 0 ]larks)

(10 lllrks)

(10 \[urli.s)

(101\lnrlis)
(10llarl<s)

I-'v

OR
4 Expl a1lt c lrangir-rg file perr-nissions in absolutc

l)cfine Shcll Script.
i) Currcnts users
iv) Proccss statLts

Write lrenu drivcn shell s

a, Dehne Message queLlc

b. Wirat are Pipe5'/ What
over a pipe.

b.

o {' systen-r ll I-ist of filcs iii) 'l-oc1a1,'s ciarc
\,) Contcnts of'a fjic
)

It4 o clu le-3
\\/hat is the advatttage of locking fiies? Explarn nranclator,v ancl ailr isorv Loclts. \\'irr
advisory'locli is cortsrciered sat'e'l What are Lhe clrat,backs olaclvisor'), lockl I:rplain.

(12 Illrlis)
Expiain erec iirnctions with progf irlr. (0s )t,r.lis)

OR
6 a. Discr-rss ho"i, a C prograrn is started and terrnirratcc'i in \arious r,i,nys alons u,ith sLrrtahle

dlagl'llln. rlt) llr,.t.rr
b. write a c/c++ progrilll'l r-rsing set.jntp ancl longjntp to shr)u,their"cl'lbct on \riu'loLls Vari:rblcs.

(10I'larlis)

Nlodule-4
What is Stream Pipe? Explain it with program. i-lo',v Srrezun

Explain the implementation of system rvith its prototype .

pipe is bettcr than 1.ri1tc'.'

oR.
. Discuss how it is LiscfLrl rn II,C. (10 i\tar.l.s)

are its lin-ritations'l Write a progrant to send data liont parcnt to chrltl
(10 \larlis)

a,

b,

a.

b

0.

D

I of 2



9 a

t)

Module-5
DrscLiss ho'"1'error logging is done by daemon process with sLritable cliagram.
Discr,rss the worl<ing of sigprocmask API. IJxplain a1l palarneters of API rvrth

oR
what rs I)acmon proccss'l Explain coding rr-rles ancr error rogging
Explain thc prototvpes o1'lbllowing Apls .

i) Sisnll ri) Kill iii) alarrl iv) srgacrion.

18CS5(

(10 N{arks)
progralL

(101\{arks)

(10 Marks)

(10 l\Iarl<s)

t0 a.

b

,:..

,:

+{.J.LJ

2 o1'2


